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PHILOSOPHY — HONOURS
Paper : CC-2
(History of Western Philosophy)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.

SIEEARS RIS 79T WP
3| R Tel @= Ae (@@ I ) ¢ $%30
(F) T 7w A Ge Soe — 3R I
=) cFr (@) I
@) caAbTeER (%) AT |
(}) GG AN v =0
(@) ORI (@) Pt
(@ =izdfFE @) @fF |
(1) W& ~FGRA 20T
(=) TSRiEm @3 (BTG () ATCATTIEA € Ao
@) BTN 9R SRHTAR (®) do@E @02 7|
() “FEz R e AR — 98 Sfeh iR
(%) CeTIIferor CHNEIRRIE
@) wfeam () elfer |
(&) FRITES B AL AL =
(=) =fezige e (@) Sy T
() fesrs Aem (%) fBeT A |
(5) EFHEETE ACS PR G A 2&
(=) 5 (i) fon
(@) w4 &) 12!

Please Turn Over



(.\'(m sm. )-Philosoplu‘-"/(‘C-2/C‘BCSJ (2)

(®) B wigRapT weifes s aga @ i fitea Srae seates (el ze—

(®) =iy ¢ AT (@) ST @ oA
® At &3S ¢ 3B o3 @) e 7
(%) ‘Republic’ 8T¥3 TS 207
(=) T (=) SyifeGne
@ Pt (&) 2t
@) W s (- R f-afefeaiem o2 a2
@) e (@) 7%
@ P () ezafE |
(@) FZIAME @ [P AR T4 21T FACH, ©f 25
() YT TObe 8 BB TS5 (M) AIFN TFHITIE Ib+ 8 AT TOAIITTS <5+
() Rrews 357 ¢ TROgFS I &) @RI
() 73 4=l A" — 92 Ut FrRTE™
(=) CIo! @) o
(@ P () =i |
(¢) Portare e e @z
(=) =g, I ¢ e (=) e, I e Regr
() IFT, FRES € oS @) @EmR 7|
3 fFEfRe eelem A Te we (F-rer A ) ¢ ext

(%) ‘Nous’ IS ST F IRCITRA 2

() AT TP ST AT ST B WG Il SR |
(o) #32 GRS AFAGTAIAT— i TS ? WO Y11 FA |

(9) CATHIA TS SEPAITE BITHE CAFBIae STeiba S |

() SIfFFH6rAd GO A (@b STAB T |

(5) (7S @ 21T 43N FIT FLALEA ? AR WD A |

(%) PATATETE Wi @It fai @9 ARUFTA ATEADAl Sl |

(&) mizatie Tgo 4 afefre summama Ay e me |



(3) (X(1st Sm.)-Philosophy-HICC-2/CBCS

- 7Y evsa $6a e |

ol CADIR NS SIS I W 38y | S e tam= Feat | s

81 ‘Cogito argo sum’ (W} 5% 3f3, wreaz =ff =ife)— Wﬂiwmmwml’{&%%
NS S 2 (SN TEHR AATH Y& 76 | Yo+t

¢ T AT PoATEa T© JAR5" WEna |

Y| FRIMGCS FPIE I A T € SRS I A | A e ARrEREN 23, SR It W FAE
I 7T ? SO+

plis

[English Version]

The figures in the margin indicate full marks.

1. Choose the correct option (any ten) : 1x10

(a) “Water is the basic element of all substances” — is said by
(i) Thales (i) Heraclitus

(iii) Protagoras (iv) Empedocles.

(b) An Ionian philosopher is

(i) Descartes (i) Spinoza

(iii) Leibnitz (iv) Thales.

(c) The names of two Atomists are

(i) Leucippus and Democritus (i) Empedocles and Heraclitus

(i) Protagoras and Anaxagorus (iv) None of them.

(d) ‘Man is the measure of all things’— this statement was made by

(i) Democritus (i) Protagoras

(iii) Gorgius (iv) Prodicus.

(e) The doubt supported by Descartes, is

(i) hyperbolic doubt (ii) factual doubt

(iii) individual doubt (iv) collective doubt.
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(f) The total number of causes recognised by Aristotles is
(i) Five (i)) Three
(iii) Four (iv) Two.
(g) The two sides of all worldly things mentioned by Thomas Acquinas, are
(1) Existence and Essence
(i) Form and Matter
(i) Natura Naturans and Natura Naturata
(iv) None of these.
(h) The author of Republic is
(i) Socrates (ii) Aristotle
(iii) Spinoza (iv) Plato.
(i) Which philosopher upholds the theory of mind-body interactionism?
(i) Descartes (i) Locke
(i) Spinoza (iv) Leibnitz.
() The two kinds of true propositions distinguished by Leibnitz are
(i) truths of reason and truths of fact
(ii) proposition about relations of ideas and proposition about matters of fact
(iif) analytic proposition and synthetic proposition.
(iv) None of these.
(k) “All ideas are innate”— this statement was made by
(i) Plato (ii) Descartes
(iii) Spinoza (iv) Leibnitz.
(1) The three types of knowledge, admitted by Spinoza, are
(i) Adventitious, Fictitious and Innate (i) Reason, Intellect and Faith

(iii) Rational Intuitive, and opinion (iv) None of these.

2. Answer the following questions briefly (any five) :
(a) What is ‘Nous’ according to Anaxagors?

(b) Explain, after Empedocles, the four periods of our world of changes.
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(c) All is in flux— Whose view is this? Explain this view.
(d) Discuss the characteristic features of knowledge after Plato.

(e) Explain the ‘third man’ argument of Aristotle.
(f) How many kinds of ideas are admitted by Descartes? Discuss briefly.
(2) Discuss, in brief, the three levels of knowledge in Spinoza’s philosophy.

(h) Give a short account of Leibnitz’s doctrine of Pre-established harmony.

Answer any two the following questions.

What, according to Plato, are the characteristics of ‘Forum’ or ‘Ideas’? — Discuss. 15

Explain clearly Descartes’ dictum ‘cogito ergo sum’. Is it an inferential truth? Give reason in support of
10+5

your answer.

Critically discuss the theory of substance advocated by Spinoza. 15

Discuss, after Leibnitz, the nature and types of monads. If monads are windowless, how is the relation
1045

among the possible?




